FUNCTIONS- EXERCISE

HF@n+1) = ZF(;)” neNandf(l) = 2, then

f(101) equals

(1) 49 2) 50 (3) 51 @) 52
f(x)

Let f be a function satisfying f(xy) === for all
v

positive real numbers x and y. If f(30) = 20, then
the value of {(40) is-

(1) 15 (2) 20 (3) 40 @) 60
2 _ .
Let fix) = x°-3x+4 ; x<3 and
x+7 ;X223
X+6 ¢ x<4

then which of the

g(X):{x2+x+2 ;o ox>4’

following is Not true -

Q) F+9@=9 @) (f -9 3.5 =1

ey 8
3 (9 (0) - 24 a [Ej(s) 8
If x*f(x)—y1—sin2mx = | f(x) | ~2f(x) , then f (-2)

equals

I T
17 @) 11 ) 19
Which of the following is the graph of
y=Ix-11 + Ix-317?

(1) 4 0

.
) \o\l £
\/y
@) ———>

10.

[sinx|

Which of the following is the graph of y =——

N Y

(1) _/\1/\/\_»(

- 0 n 2n

N Y

<2>—7r<_>1:0 NS

If fix,y) = max(x,y) + min(x,y) and
g(x,y) = max(x,y) — min(x,y),

then the value of f[g(—g,—g),g(—&—‘l)j is

greater than -

(1)1 @) 2 3) 3 @) 4
If 2f(x) — Sf(l) = 2, (xg0) then f(2) is equal to
X
7 5
w-7 @ 2
(3) -1 (4) none of these

The number of integers lying in the domain of the

function f (x) =4/1090A5 ES_Xj] is

(1) 3 2 2 3)1 @) 0

The range of the function f:N = fx) = 1)x-1,
is -

(1) 1, 1]
3 {0, 1}

@ -1, 1
@) {0,1,-1)
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11.

13.

14.

15.

16.

17.

12.

A function f has domain [~ 1, 2] and range
[0, 1]. The domain and range respectively of the
function g definedby g x) = 1 - f (x + 1) is
(1) -1, 1 ; [-1, 0] (2) -2, 1J; [0, 1]

3) 10, 2] ; [-1, O] @) 11, 3] ; [-1, 0]

Which of the following function(s) have the same

domain and range ?

Range of function

f(x)=log, [;j is given by
Jx+24802 -x
1
(1) (0, ) 2) {57 1}
3 (1. 2 @ E 1}

Which of the following functions is an odd function?
(1) Ix=21 + (x + 2) sgnx + 2)

11
(2) <@ -1)  2x

(3) log (sin X ++/1 +sin® x)

(4) e—4x (e2X _ 1)4

(where sgn(x) denotes signum function of x)

Period of flx) = {x} + {X + %1 JH {X + ? tis equal to

(where {.} denotes fractional part function)

()1 (2) 2/3 (3) 1/2 (4) 1/3

The period of the function SinX+sindx o
COSX + cosbx

(1) n/3 (2) n/2 3) = (4) 2n

If filx) =a log(i+x)+ bx> + ¢ sinx + 5 and

—X

fllog,2) = 4, then f (log3 (%D is equal to

(1) 1 (2) 3 (3) 4 (4) 6

18.

19.

20.

21.

22.

23.

X

Let {(x) = 7 then find the value of the sum
9% +3

1 2 3 2005
f +1 +1 o f| =——
2006 2006 2006 2006
(1) 1002  (2) 10025 (3) 1003
The period of the function

(4) 1001

f(x) = logcos2x + sindx is
(1) = (2) 2n

3 5

5 (4) Not defined

If a function f(x) is such that

f(x+lj 4 %; then (fof ) (VIT) =

X
(2) 81

(3) 79 (4) J11
Let f : R - R be a function defined by

Ix P +xI A
— 4 ; then the graph of f(x) is lies in
1+x

f(x) = —
the :-
(1) I and II Quadrants

(2) I and III Quadrants

(3) I and III Qudrants

(4) Il and IV Quadrants

Which of the following functions cannot have their
inverse defined ?

(I)f:R >R, y=e*

2 f:R*->R;y=loglxl

T T

. | B w _ : — &ind
3) 1 : { 2,2}—>[1, 1]; y = sin°x

@ f:R >R y=el
(where [.] - greatest integer function)

If gix) = x2 + x -2 and %(gof) x)=2x2-b5x + 2

then f(x) is equal to
(1) 2x -3

2) 2x + 3

(3 2x2 +3x + 1
4) 2x2 - 3x - 1
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24. If afunction g(x) is defined in [-1, 1] and two vertices | 27. Which pair of functions is identical ?
of an equilateral triangle are (0, 0) and (x, g(x)) and (1) sin"Y(sinx) & sin(sin™x)
. 3 (2) loge* & gloge
its area is 7 then g(x) equals (3) logx? & 2 log.x
(4) Signum function (x*+ 1) & g(x) = sin®x + cos?x
(1) V1+x® (2) —V1+x® 28. Letf:R — R be defined by f(x) = 3x? -5 and
2 2
(3) v1-x° or —v1-x° (4) None of these g:R—>Rbygl = X2X+1 : then gaf is
25. If function f: R — S, flx) = (sinx — v/3 cosx+1)
is onto, then S is equal to 1) 3x* -5 @ 3x*-5
(1) [0, 1] @) [-1, 1] 9x* - 30x%+26 9x* —6x% +26
3) [0, 3] @) [-1, 3] 352 32
26. If the function f : R —» R is defined b __oX X
/ . ) xt+2x2 -4 @ 9x* +30x* -2
= 2
fix) = log,(x + Vx*+1), (@ > 0,a# 1), then | 59 ¢ _ 309, 1 _4x — 1]— 10, then [x + 2u] is
i) is equal to (where [.] is G.L.F)
Y & (1) 76 2) 61
1) [a e ] (3) 107 @) 67
30. Iff:R >R ;f(x =2x+1,g: R > R, gx) = x5,
then (fog)™! (55) equals
2 [a"—a"] (1) 27 (2) 3
2 (3) — 27 4) -3
(3) Doesn't exist V x € R
(4) Exists for x € R* only
Marked Question is multiple answer
Que. 1 2 3 4 5 6 7 8 9 10
Ans. 1 4 1 4 4 1 1 3 2
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 2 2,3 2 3 4 3 4 2 1 3
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 4q 4 1 3 4 2 4 1 3 2




